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14.) Find Q ,given y =—x’cos2x—csc(3x+1).

%\4: 300sax - C(-asinax) — (- 3050 (oD ok (3x+1)
X

= |- 35 oshr) + x> Sin@R) 4 3 05e(3xHD Lot (3x+D

15.) Find y', given y =x’sin(4x—2)+tan(2x-1).
I

Y= XS (U%R-2) + Lx* 0os (4% <2) + ae*(ax-1)

16.) Find an equation of the tangent line to the curve at the given x-value:

y:—2x3+x2+11 at x=1. ()j\()) m:v‘%

ij: A4+ =10
-0 U (x-1)

= - % ax
\5'(\): btz ~4=m

17.) Evaluate the following integrals:

a) [ «*(x*+10)" U=X*+16 b) [ xe”dr U=x*
du . i > dx=0u QU_;gx=> Ox=du
dx l,{,x3 ax A2 X
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18.) Differentiate y :w

x =1
lj': 4 (-1 - ax (XD

%I: LI'XQ‘L" - %Xj -A% - -4Xl_—_‘9‘x -L\V
(xZ-1)* (x2-1)*

= -5
U

19.) Evaluate: J‘ Scsc4x cot 4xdx

5}(‘500«00111-&_(1
m

(scu + C =

= 4x
n

[\

u
d
ax

S dx:d,‘l

-5 ose(#)4C
0

b

20.) Given the function f(x) = x* —12x, use calculus to analyze and graph of the function.

' -0 - 3
)('()0: 3)(3-!3 -0 4‘"()0: Lx = O 7{()(5—0_)& [ X
\(3—-4_—'0 X =0 0= X(Xa—"l)
(x¢+2)(x-2)=0 [(-2)=-§+al=]b X=0 +{i2
x=t2 [(2y= ¢ _au= -k :O)J:QE
Domain: (’ OOJ, <>0> ]C & + } — ] -+
x-intercept(s): (O)O)) (-ZEIO\)) (QE,O> fy A~ p;{]_mw ~ Qj mmj
y-intercept: (o ;O> £ i
Vertical asymptote(s): __[1011f ,CU() e ¥ \/
0
Horizontal asymptote(s): _})0lN? \
\% N

Slant asymptote(s): | 10V1€
Incr:/_,,n}«ﬁu(i,.OO) O
Decr: [~ gig) )C’(K)i()

Extrema: (= 4.l £'505F 20

(2}4&\/ min_f'<«o+f"0
Conc Up: (0}00) f“>o
concDown:_(=00,0) £"<D
por: ___(0,0)
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